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39298200 uhwph opowtiul uu huin 10000 10]100.000
30197622 Pop Uu huin 3020 4(12.080
30192210 Eplnnuwith jusnih duyuykih Uu hunn 800 5(4.000
30192136 Uwnhin [8)108 hun 100 25|2.500
30192121 qphs 0)108 huin 100 25]2.500
39221440 ypdhle uu huin 1500 5(7.500
44111419 ulpl (nn19) Ul huin 600 20(12.000
pungulkup 140.580
Owpuynipjnibithp
79421100 Opuigph nkljudup u)e8 dwipn 200000 1{200.000
79211100 Zupquuyyuwhwljuih Swnwynipni uu Uwipn 100000 1/100.000
79931300/1 ‘Ujuphs-dlbunjnpnn Uu dwpn 250000 1)1250.000
79931300/2 Epuynghghwjh Juquwlkpunud U huwn 50000 1150.000
Ul
79961100 Lntuwbjwpuwhwbnid huwn 105000 1|105.000
80491110 Jupybinwug nuu Uu dud 4500 24(108.000
60171100/1 Spwbiuynpuught swpuympinit Ywiwdnp-Fnudph- dwihwdnp 10108 hwwn 35000 1]35.000
60171100/2 Spuiuynpumiht Swnuynipnil Ypugki-Fnudph-Ypwokh UU hun 12000 1112.000
60171100/3 Spuuynpuiught Swpwympinih Gplnb-Fnudph-Gplw Uu hwwn 52000 1]52.000
79810000/1 Swwgpnipnih puibph (148ud X 108ud) Uu hunn 25000 1]25.000
79810000/2 Swywgpnipinil ywuwnwnh (A2 $npuun) UU hwwn 4000 20180.000
79810000/3 Swugpnipnil ppnojniph Ul hunn 1000 40(40.000
79810000/4 Swywgpnipnit wdthnthhs gppnylh uu hunn 7500 25(187.500
79810000/5 Suyjuignnipjuit wijwwpwpn Ul huwn 300 12]3.600
79810000/6 Swwqpnipnil hpuhpunndup Ul hwwn 500 20]10.000
79810000/7 Suyywgnpnipinih hujuwgsh jngniny inpwwntinph (A5) Ul hun 960 50{48.000
79810000/8 Sujugnnipinii swughljukph Ul hunn 6000 10160.000
92100000/1 ‘Ljwpwhwind b Untnnwdnud Uu op 20000 5]100.000
92100000/2 Anjugnuyhtt hnynjulh yuwnpuunnd (1n) Uu hun 30000 1/30.000
92100000/3 wthnthhs hnjpndwljh yuwnpwunmd (2p) Uu huwn 30000 1)30.000
puquukup 1526.100




